FA NG : How do ] know whiCh strategy to use?
This chart will help You to decide.........

STEPS FOR FACTORING

2 Terms (Binomial) 3 Terms (Trinomial)
Look for a Difference A. Simple Trinomial ax2+bx+cx+d

of Squres: x*+bx+c: Grouping
a®-b? = (a+b)(a-b) Sum/Product

B. Complex Trinomial
ax*+bx+c:
Decomposition

l

CHECK FOR MORE FACTORING

Now use the Chart agbove to help You faCtor the questions
that follow.




Assignment

1. Factor.
a) x° - 49 h) x> -8x+15 c)  8x7+32
d) a+atsa+l @) Epz—ﬁp—? t) Ve Tv 410
a) a—-at-a+1 hj 4 - 25:° il ¥ -16
2. Factor.
3 2 3 “
a) Txo =19 -6 b) 34+x-2x~ c) a”-=64b"

d) 108 - 322 e) X +5x7+4 F) 8> —32v-96



* g 6250 -1 h) 2y*-v* -3 i) 36 -3¢ -3x°

3. Factor.
a) b — 16 —6b +24 hy -t -6 ¢) 36a’ + 60a + 25
d) 5+ 17g + 6g° e) r -8lx ) —256 +1*

o) ¥ + V=X -—-xy h) 2x°* - 15¢% = 27 i) 12a° + 32a - 12



4. The expression 6x2 — 13x — 28 can factored into the form (ax + b)(cx — d), where a, b, c and d
are positive numbers. Thevalueof a+ b +c+d is

5. When factored, the trinomials x? — 10x + 21 and x? — 4x — 21 have one binomial factor in
common. This factor is

x—7
x+7
x—3
x+3

ooNow>»

6. One factor of 12x% + 10x — 8 is

A, 3x+4
B. 3x-4
C. 2x+1
D. 6x-1




7. The area of a rectangle is 2x2 + 17x + 30 cm?.
a. Determine the dimensions of the rectangle.

b. Using your answer from above, determine a simplified expression of the perimeter of the

rectangle.

c. If x =5 cm, find the actual perimeter.

Answer Key
1. a) (x-7)(x+7) b) (x- 5)(x-3) ¢) 8(x2+4)
d (a+D@?+1) e) (p+1(2p-T7) £y (v+5)(v+2)
g) (a+ 1)(a- 17 h) (2 - 50(2 + 5¢) i) (x=2(x+2)x2+4)
2. a) (Tx+ 2)(x-3) by (3 - 2x)(1 + x) ¢) (a — 8b)(a + 8b)
d) 3(6 - 2)(6 + z) e) (x? + 4)x? + 1) £) 8(v+ 2)(v- 6)
g) (5p-1)5p + ])[25;}2 +1) h) (y 24 1)(2y 2 3) i) 3(4+x)(3 -x)

. a) (b-2)(b-4)

¢) (6a+ 3)?

b) (13- 3)(+2)
d) (5+ 2g)1 + 3g)

e) x(x - 3)(x+ 3)(x?+9) £) —(4-0(4+0(16 +12) or (- 4)(r+4)1%+ 16)

g) (x- D(x-y)

h) (x-3)(x+ 3)(2x%+3) i) 4(3a- Da+ 3)

7a. (x+6)(2x +5)
b. P=(x+6)+(x+6)+(2x+5)+(2x +5) = 6x+22 cm
c. P=6(5)+22=52cm



